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Name ____________________________ 

______ /100 points
Physics HWK #6 Torque
Show your units and work (Given, Find, Known, & Solve).
Equations:
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Question 1)  The radius of a wheel of fortune is 1.2 meters, and the operator applies a force of 45 newtons tangentially to get it spinning.  What torque has she supplied?
Question 2)  A 32-kg child sits on a seesaw.  If she is 2.2 meters from the pivot, what is the torque that her weight exerts, making the seesaw rotate around the pivot?
Question 3) A 52-kilogram boy is standing on a pedal of his bicycle at a moment when the crank arm, which is 54 centimeters long, makes an angle of 30( with the ground.  How much torque is turning the pedal arm?

Question 4)  A seesaw, balanced in the middle, is 4.0 meters.  Georgie weighs 240 newtons and is at one end;  Sally weighs 170 newtons and is 1.0 m from Georgie.  If Daddy weighs 620 newtons, how far from the pivot on the other side must he sit?

Question 5)  A horizontal plank, weighing 80 newtons and 3.5 meters long, rests with one end on a rock and the other on a scale.  A woman is standing on the plank, 1.0 meter from the rock, and the scale reads 160 newtons.  How much does the woman weigh?
Challenge Problem (10 points)

A house painter is raising a ladder against a wall.  The ladder is 5.2 meters long and weighs 600 newtons.  Its center of gravity is 2.0 meters from the top.  If the angle the ladder makes with the ground is now 55(, how hard is the painter pushing at a distance of 1.8 meters from the ground?
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For more Classwork visit: www.alfredsolis.com
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